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01 At2teltl 197,850 177,750 20,100
OA=RSIXIAL & M U =2 S 197,850
sE0t= 2ZHE AL 92,000 131,500 /39,500
401 AIZHIX S0HH 92,000 131,500 /39,500
01 AlZ2H| 92,000 131,500 39,500
OsE0ts SFMEAY 50,000
OHLA O1t0IS 28 2= A (04 15,000
SEOS(HYY) oFel 2817 Xl At
(Zo10114H) 15,000
OzbHotE 28217 X(F0lAH) 12,000
=S DISSZME(Z B0oA) 20,000 112,000 /92,000
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401 AlZHIZL SO 20,000 12,000 8,000
= 20,000
01 Al&HI 20,000 12,000 8,000
O=2UFNE Ol==tB M 20,000
< 20,000
MEHEAIEH 25,000 50,000 A25,000
2=3412el 25,000 50,000 /25,000
SHZNE SAAIE £X 25,000 50,000 /25,000
401 AlZHIZL RO 25,000 50,000 /25,000
01 Al&H| 25,000 50,000 225,000
O=g&l= FHRYAAE £X 25,000
dY2IZHI(Ha A=) 63,751 66,584 N2,833
JlE2gde(ed A=m) 63,751 66,584 A2,833
JlEZe(ga A= 63,751 66,584 2,833
201 2= 40,272 41,648 1,376
01 At2t2lt] 25,272 27,648 A2,376
oget=ZH| 16,552
C=E il 9,720
02 S3=gl 15,000 14,000 1,000
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